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QUESTION 1

A company plans to implement the out of the box workflows provided with the IBM FileNet Content Manager. The
system administrator is in the process of configuring this functionality. The workflow system has already been created. 

What is the next step in the process? 

A. Use FileNet Enterprise Manager to create an isolated region. 

B. Use Administration Console for Content Platform Engine (ACCE) to create an isolated region. 

C. Use ACCE to create a connection point to a new isolated region or an existing isolated region. 

D. Use Process Task Manager to create a connection point to a new isolated region or an existing isolated region. 

Correct Answer: B 

 

QUESTION 2

The Content Engine provides extensible security parent-child relationships by means of what type of property placed on
the meta data of custom object-valued properties? 

A. Security Folder. 

B. Security Parent. 

C. Security Template. 

D. Security Proxy Type. 

Correct Answer: D 

 

QUESTION 3

If the following tree in a nested choice list is selected (Branch1 -> Branch2 -> Branch3 -> Branch4), what is stored as
the value: (assume the values below represent the actual values of the selections, not just the display value)? 

A. Branch4 

B. Branch3->Branch4 

C. Branch2->Branch3->Branch4 

D. Branch1->Branch2->Branch3->Branch4 

Correct Answer: A 

 

QUESTION 4
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What are two different logging levels that can be set using the IBM Content Search Services command-line
configuration tool? (choose two.) 

A. Fatal 

B. Finer 

C. Trace 

D. Debug 

E. Warning 

Correct Answer: BE 

 

QUESTION 5

Which two of the following actions can be performed on a subclass? (choose two.) 

A. Remove an inherited custom property. 

B. Change the default value of an inherited property. 

C. Set a property to optional if it is required by the parent class. 

D. Turn off versioning when the parent class allows versioning. 

E. Increase the maximum permitted value on an inherited property. 

Correct Answer: BD 
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